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Home Science

Paper II

g fam
gqouTeRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.
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Which of the following is the best
source of omega-3 fatty acids ?

(A) Corn oil

(B) Wheat products
(C) Pork

(D) Sardines

One of the important properties of
dietary fiber is their :

(A) ability to form acetic acid in the
colon

(B) provide 5 kcal/gm of energy

(C) susceptibility to fermentation in
the colon

(D) prevent diarrhoea

Which of the following is classified
as “conditionally essential amino
acid’ ?

(A) Lysine

(B) Glycine
(C) Arginine
(D) Taurine
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Amylase Rich Food (ARF) is

prepared by the process of :

(A) Malting

(B) Fermentation

(C) Pasteurisation

(D) Homogenisation

Resveratrol is a polyphenol present

in :

(A) Grapes

(B) Guava

(C) Banana

(D) Apple

Mycotoxins are produced by :

(A) Parasites

(B) Fungi

(C) Plants

(D) Virus

An inventory in food service

enables to :

(A) determine serving size

(B) schedule production time

(C) estimate personnel recruitment

(D) calculate and compare food
costs with food budget

Addition of micro-nutrients to foods

that lacks a particular nutrient is

called :

(A) Supplementation

(B) Fortification

(C) Enrichment

(D) Biofortification
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10.

11.

12.

13.

School food service in India is
aimed to :

(A) Address management strategies
in education

Prevent infections

Bring discipline in food service
Address classroom hunger and

(B)
(©)
(D)

improve school enrolment
Agar-agar is :
(A) Non-nutritive carbohydrate
(B) Non-nutritive protein
(C) Non-nutritive fat
(D) Preservative
The serum retinol cut off value
below which vitamin A deficiency is
indicated :
(A) Less than 0.07 p mol/L
(B) Less than 0.70 p mol/L
(C) Less than 7.70 p mol/L
(D) Less than 0.77 p mol/L
Which among the following is a
clinical approach to prevent iron
deficiency anemia ?
(A) Food fortification
(B) Iron supplementation
(C) Nutrition education
(D) Integrated approach
This has been identified as the
critical period :
(A) First 1000 days of life
(B) First three years after birth
(C) Under five years
(D) First 1200 days of life
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14.

15.

16.

17.

18.

Which among the following is used

as an ergogenic aid ?

(A) Magnesium

(B) Branched chain amino acids

(C) Water

(D) Fibre

Mid upper arm circumference

measures :

(A) Skin fold thickness

(B) Subcutaneous fat

(C) Fat and muscle tissue

(D) Fat, bone and muscle tissue

NIDDCP is :

(A) National Iodine Deficiency

Development Control Program

(B) National Iodine Deficiency

Disorders Control Program

(C) National Iodine Deficiency

Disease Control Program

(D) National Iron Deficiency
Disorders Control Program

Damage to liver cells leads to

increase in :

(A) Blood sugar

(B) Serum cholesterol

(C) Bilirubin

(D) Sodium

Very low residue diet is given in :

(A) Diabetes

(B) Burns

(C) Diarrhoea

(D) Atherosclerosis
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19.

20.

21.

22.

23.

A weave characterized by diagonal
lines on its surface is :

(A) Basket weave

(B) Twill weave

(C) Plain weave

(D) Huck-a-Back weave

An inherently flame-retardant
material is .......coceevvriieennenn.

(A) Viscose Rayon

(B) Tencel
(C) Linin

(D) Nomex
........................ is the process of
matting wool fibers together by heat,
steam and pressure to form a fabric.
(A) Knotting

(B) Knitting

(C) Braiding

(D) Felting

...................... is a finishing process for
fabrics that produces a shiny smooth
surface by passing the cloth through
heated cylinders.

(A) Calendering

(B) Bleaching

(C) Embossing

(D) Carbonising

HTHP process of dyeing is suitable
for :

(A) Vat dye on Viscose Rayon
(B) Disperse dye on polyester

(C) Reactive dye on cotton

(D) Metal complex dye on wool
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24.

25.

26.

27.

A woven fabric from Maharashtra
in bright colours and contrasting
borders mainly used to make sari
blouse is :

(A) Khan

(B) Khaddar

(C) Pancha

(D) Panetar

The ability of a textile material to
regain its shape and volume after
being compressed or twisted is
known as :

(A) Pliability

(B) Cohesiveness

(C) Resiliency

(D) Elasticity

The phenomenon where two colour
samples appear to match under one
light source, no longer match when
viewed under a different light source
is :

(A) Fluorescence

(B) Metamerism

(C) Optical illusion

(D) UV matching

A design technique that eliminates
textile waste at the design stage
is :

(A) Sustainable design

(B) Pret design

(C) Classic design

(D) Historic design
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29.

30.

31.

32.

................... length is measured from
highest point of the shoulder to
waistline.

(A) Back

(B) Sleeve

(C) Side

(D) Across

....................... is attachment used to
feed the fabric forward on sewing
machine.

(A) Shuttle

(B) Needleboard

(C) Stitch Regulator

(D) Feed Dog

......................... design is composed of
lines, colours, forms and shapes.
(A) Decorative design

(B) Classic design

(C) Structural design

(D) Trendy design
A, is a style which has
longest duration in a fashion cycle.
(A) Fad

(B) Classic

(C) Mass fashion
(D) Trend
.......................... is a method of
developing a pattern from body
measurements.

(A) Pattern-making

(B) Draping

(C) Drafting

(D) Flat pattern-making
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34.

35.

36.

37.

........................ is the fashion term
used for customized clothing.

(A) Ready-to-wear

(B) Couture
(C) Silhouette
(D) Ethenic
...................... is a wrinkled
appearance along a seam.

(A) Unbalanced

(B) Variable

(C) Pucker

(D) Slipped

An ecofriendly effective bleach is

Hydrogen Peroxide

Sodium Perborate

Sodium Hypochlorite

(D) Chlorine Bleach

In 20th Century, ................... fashion
theory was followed.
(A) Trickle-up

(B) Trickle-down
(C) Trickle-across
(D) Bottom-up

The materialistic concept of
management emphasizes :

(A) Physical benefits

(B) Mutual relations

(C) Human resources

(D) Individual values

34.

35.

36.

37.

SEP - 17221/11—A

.................

B YA G UTEhTA
AFTUITER TIR Sholedl haSdTeh il
LGNS

(A) EI-ZT-aBR

(B) T

(C) THeiieee

(D) 3ufeh

feqomn gTeseien g
(A) SFEATES

(B) =RTea

(C) TR

(D) witug

TAeRUeeh URUMH&RE faisih oS

AT Hifdehare! Tehed T I
T qd ?

(A) IRIRE HER

(B) TR TaY

(C) WS THE

(D) SafR® T




38.

39.

40.

41.

The step of management process
that consists of dividing and
grouping activities and assigning
them to individuals is :

(A) Controlling

(B) Planning

(C) Delegating

(D) Organising

According to systems approach,
management is a continuous system
having :

(A) Inputs, process and outputs
(B) Values and goals

(C) Number of standards

(D) Human

managed

resources to be
A period during which activity pile
up on each other at certain times
is called :

(A) Time norms

(B) Work curve

(C) Peak load

(D) Peak periods

Those that

instrumental traits or qualities

resources are
within people are termed as :

(A) Human resources

(B) Non-human resources

(C) Personal traits

(D) Behavioural standards
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42.

43.

44.

45.

46.

Family income means :
(A)
(B)
©)
(D)

Flow of money and satisfaction
Satisfaction achieved

Flow of goods and services
Flow of money, goods and
services and satisfaction

The technique of time and motion
study that involves step-by-step
description of the methods used in
doing task is :

(A) Pathway chart

(B) Process chart

(C) Operational chart

(D) Flow chart

The helpful guides given in products
about its usage, care and prevention
of misuse is called :

(A) Label

(B) Brand

(C) Trade mark

(D) Standard

Oxygen

consumption can be

measured with :

(A) Treadmill

(B) Cycle ergometer

(C) Step stool

(D) Douglas bag

The value of a colour can be changed
by :

(A) Adding complementary colour
(B) Adding grey

(C) Increasing intensity

(D) Adding white
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47.

48.

49.

50.

51.

When the objects are placed at equal

distances from the axis, the balance

achieved is called :

(A) Informal balance

(B) Formal balance

(C) Radial balance

(D) Occult balance

Recruitment policy usually highlights

the need for establishing :

(A) Job Specification

(B) Job Analysis

(C) dJob Description

(D) Job Evaluation

The ideal orientation of kitchen

is :

(A) South

(B) South-West

(C) East

(D) North

Cross ventilation can be achieved

by :

(A) Placement of openings on
opposite wall

(B) Having lots of windows

(C) Using ceiling fans

(D) Using exhaust hood

The largest selection of real wood

pattern for a design project could be

attained by the use of :

(A) Planks

(B) Veneers

(C) Laminate

(D) Plywood
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52.

53.

54.

55.

Tools provided to the workers are

comfortable to work with when :

(A) Tool is designed for right hand
worker

(B) Tool is heavy

(C) Position of the handle is
convenient to use

(D) Tool has sharp edges

Anthropometry is a fundamental

branch of physical anthropology,

that measures :

(A) Height

(B) Strength

(C) Skinfold thickness

(D) Volume

Neutral postures are postures

where :

(A) Body parts are in extreme

range of motions

(B)

©)

Body is twisted at waist
Body

balanced

is not aligned and

(D) Body is aligned and balanced
Rekha is in her fifth week of
pregnancy. Which prenatal stage is
she in at present ?

(A) Embryonic period

(B) Germinal stage

(C) Conception

(D) Foetal period
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56.

57.

58.

Which of the following statements

is not true ?

(A) Development is a pattern of
change that begins at
conception

(B) Development is continuous

process throughout the life span

(C) The

development are interwoven

different domains of

and interrelated
(D) Human development starts
from moment of birth till death
Piaget reasoned that before the
individual can organize and
interpret experience, they must
first :
(A) Represent it mentally
(B) Create schemes
(C) Intellectualise it
(D) Receive appropriate tuition
In Vygotsky’s interactive approach,
a guide, or teacher gets the child’s
attention, demonstrates the skill and
structure the interaction to help the
child learn :
(A) Self-esteem Building
(B) Scaffolding
(C) Cognitive structuring

(D) Intelligence cueing
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59.

60.

61.

62.

Increasing limitations in movement

and coordination and declining

strength in muscles is indicative of :

(A) Cerebral Palsy

(B) Muscular Dystrophy

(C) Spina Bifida

(D) ADHD

Which of the following would be an

important daily living skill for a

high school student with an

intellectual disability ?

(A) Knowing multiplication table

(B) Using a microwave oven

(C) Identifying the states on a map

(D) Stating the main ideas of a
paragraph

Only three states published the plan

of Child Labour Prevention Act

those are :

(A) Maharashtra, Karnataka and

Tamil Nadu

Punjab, Haryana

Maharashtra

Both (A) and (B)

None of the above

(B) and
(C)
(D)
Infatuation is :
(A) Intimacy, but no passion or
commitment

(B) Passion, but no intimacy on
commitment

(C) Commitment and passion but
no intimacy

(D) Commitment, intimacy and

passion
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(D) FaeGdl, STaqEal v Iehedl
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63.

64.

65.

66.

Dream, mention relationship and
occupational decisions are the
tasks of :

(A) Middle adulthood

(B) Early adulthood

(C) Late adulthood

(D) Old age

The marriage preference rule in
which a widow marries her deceased
husbands brother
called :

(A) Sororate

1S

(B) Ghost marriage

(C) Serial marriage

(D) Levirate

A marriage in which there is one
wife but two or more husbands :
(A) Polyandry

(B) Polygamy

(C) Androgyny

(D) Androgogy

Bharat and Geeta are unmarried
have no children and live together.
They are a :

(A) Nuclear family

(B) Traditional family

(C) Progressive

(D) Cohabitation
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64.

65.

66.
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e
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(D) TEa™
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67.

68.

69.

70.

Right stages to master gender
consistency :

(A) Gender labelling, gender
stability, gender consistency
Gender stability, consistency,
labelling

(C) Consistency, labelling, stability
(D) Stability, labelling, consistency
Which of the following type of
assessment for planning career for
pre-teens would likely to be most
appropriate ?

(A) Interest inventories

(B) Achievement tests

(C) Behavioural observations

(D) Intelligence test

Which three indicators are currently

(B)

used in the Human Development
Index (HDI) ?

(@) Real GNP (Gross National
Product) per capita

Birth rates

Life expectancy at birth
Employment rates

)
(c)
(d)
(e)
(A)
(B)

Educational attainment

(a), (c¢) and (d)

(a), (b) and (d)

(C) (a), (b) and (c)

(D) (a), (c) and (e)

Protection of women from Domestic
Violence Act came into force in :
(A) 2005

(B) 2006

(C) 2007

(D) 2008
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(A) 2005

(B) 2006

(C) 2007

(D) 2008
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71.

72.

Which
intervention efforts pertaining to

approach focuses on
family members and social network
of family ?

(A) Family system approach

(B) Family structure approach
(C) Ecological perspective

(D) Strategic approach

Following schemes are offered by
Dept. of Women and Child
Development with autonomous body
CSWB excluding one :

(A) Mahila Mandal

(B) Family Counselling Centre
(C) Scheme of Balika Mandals for

71.

72.

SEP - 17221/I1—A

IO gfeeehd Samdia TeeT 3o
FHeaTAl WHISh Ao Hafea gy
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(A) ®Efadk gumelt gftesmm

(B) wigfosh wT=A1 gftesim
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(D) Tl gfteshA

Tt H.0d.gecl s a1 @
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(A) HAfgen Hez

(B) Hhed FHIRIM D5

(C) foreiRedia Hefare! afees Hed

adolescent girls (D) STUrETEY
(D) Anganwadi T3, e, GO 3TSUR] 3T
73. A barrier to communication is : ot
.. (A) 9H99
Eg; g;(;rdlnatmn B) it
(C) Co-o ti ©) W
peration
(D) Adjustment ©) i m
74. The three elements of the process of 74. ECAIRT T Fiqpdia FHeome
the communication are depicted in gfshae I ek fewd 2
the following model : (A) %A
(A) Weshley (B) ol
(B) Berlo (C) IEied
(C) Aristotle (D) TR 7T SR
(D) Shannon and Weaver 75. onfefer faerg IR WX T -
75. Economic development emphasis on : (A) 3T =Te
(A) Econ?mlc growth B) sifrs T
(B) Physical growth ©) Yefis T
(C) Natural growth )
(D) Population growth D e
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76.

77.

78.

79.

80.

81.

Growth refers to :

(A) Quantitative change

(B) Directional change

(C) Longitudinal change

(D) Qualitative change

MOOC stands for :

(A) Media Online Open Course

(B) Massive Open Online Course

(C) Myrind Open Online Course

(D) Management Open Online
Course

Person who influences innovation

decisions informally in a social

system is termed as :

(A) Facilitator

(B) Opinion leader

(C) Change agent

(D) Key communicator

From the following which is not a

form of folk theatre :

(A) Tamasha

(B) Powada

(C) Soap operas

(D) Nautanki

Good communication requires :

(A) Clarity

(B) Honesty

(C) Less information

(D) Fear

A reporter is :

(A) A person who writes research
papers on any topic

(B) A good writer, who is popular
with public

(C) Anyone who publishes his
writings online

(D) A person who interviews, writes
and publishes
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82.

83.

84.

85.

86.

87.

88.

A statement of situation, objectives,

problem and solution is known as :

(A) Extension program

(B) Evaluation

(C) Plan of work

(D) Calendar of work

Summative Evaluation takes place :

(A) In the beginning

(B) In the middle

(C) At the end

(D) After regular interval

Psychomotor domain deals with :

(A) Feelings

(B) Practical skills

(C) Intellectual abilities

(D) Knowledge

A good extension programme should

be :

(A) Flexible

(B) Rigid

(C) Problematic

(D) Formal

Which of the following is not a

characteristic of Extension Education ?

(A) Need based education

(B) School education

(C) Flexible education

(D) Multidimensional education

The social relationships are direct

face to face and informal in :

(A) Primary Group

(B) Secondary Group

(C) Voluntary Group

(D) Congregate Group

Which of the following is a principle

of Extension Education ?

(A) Principle of understanding and
translation
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Teh GAMAT 0 92 THREHR TS
TegaYy MY STHAT.
(A) wgfgs e

(B) fgdta e
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................

....................

(B) Principle of need and interest (A) THAR ST TR T
(C) Principle of centralization (B) M for eTere
(D) Principle of passive (C) halHiume T
participation (D) Ffwa yrie= 7
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89.

90.

91.

92.

93.

94.

95.

Which of the following methods is

student centric and most interactive ?

(A) Seminar

(B) Symposium

(C) Lecture

(D) Group Discussion

Which of the following is responsible

for green revolution ?

(A) HYVP

(B) TIAAP

(C) WDP

(D) IRDP

The p-value of a statistical

hypothesis test refers to :

(A) Power

(B) Practicality

(C) Probability

(D) Parametric

Which of the following is a Non-

Parametric Test ?

(A) T-test

(B) Wilcoxin’s test

(C) F-test

(D) Z-test

When every subject has equal,

chance of being chosen for the study

it is called :

(A) Sampling

(B) Randomization

(C) Count

(D) Selection

When the population is finite, the

ideal sampling method is :

(A) Systematic Sampling

(B) Cluster Sampling

(C) Snowball Sampling

(D) Stratified Sampling

Ex Post Facto research :

(A) Manipulates variables

(B) Has no control over variables

(C) Assesses post-intervention
impact

(D) Carries correlational analysis
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96. It is not necessary or possible to get | 96. «@8M HEI'IEFE TN haET GHAT B0
informed consent when carrying out Y et fepell TS A6l § ©R 3Te
research on young children. Is this oy
true ? (A) B@ : HRU oM HAA A
(A) Yes : because young children TS| A

cannot understand these things (B) &l : HeNeeRT el SATeehr 3o
(B) No : Investigator should have WTUW'IBFT A AT STEA

due respect for children’s rights

and welfare (©) ‘@H + IO forrea T ?ﬂﬂraﬂ%ﬁ
(C) Yes : because the needs of D) ETZI = Wgﬁ?ﬁﬂaﬁ T HID

science justify the means .
(D) Yes : Ethical guidelines only 97. il F’S‘hﬂ? "%’Uﬁ

apply to adults (A) wrfigeTer Fier

97. Action research means : (B) 3W|{_5’ RRICE|
(A) A longitudinal research (C) dTchTes HHEAT HISATATHISH
(B) An applied research TENEA el S
(C) A research initiated to solve an (D) grHrfasR-amfefss IBIMA HAAR

immediate problem gIneH
(D) A research with socio-economic | 9g. fth_e' Th=AT AR 221 Tedl Shel Sl
objective | @ e, 3 UE.

98. Data gathered through field work : (A) EITQT&IE 24
(A) Primary data (B) q&sd =
(B) Secondary data (C) TR 2=
(C) Tertiary data (D) TEE 2
(D) Census data PR . .

99. Which of the following is the criterion 99. TITAITIHT IV AT HRMET FeATe
for a good research question ? frepe eme .?

(A) Questions should be long and (A) T el STHET AT HE S
use complex terms Sl ATl StAlAld - -
(B) Questions should identify (B) UTH HINEANA aUs e
research bias Tifesia
(C) Questions should be (C) U3 HHHKIAM 3T9E
contemporary (D) v Tenfua fagma enfor genes
(D) Questions should connect with e gifes
established theory and research | 100, wfg-Tgvra wt feomrq

100. A cross-sectional study design : (A) SF frar eifeer e e

(A) Compares two or more variables T F

longitudinally T TR WH
(B) Collects data from more than (B) W%@%w

one cases at one moment in time (C) THEVE WEH FW
(C) Provides an intervention 3
(D) Researches into one particular (D) waTeITdE bt faferse fa

section of the society RRIEEICAC]
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ROUGH WORK
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